& o
addazay

Quant Mega Quiz for SSC CGL Tier-II

Q1. If the amount on a certain principal in 3 years at 12% rate of interest compounded annually is
Rs 12,000, what will be the amount (in Rs) after the 4thyear?

gfe 3 af & uF AT qaaT = 12% s 31 aifts &1 & g Tfr 12,000 T0F €, a1 4 99 F q1€ 74T
Tfer (% /) g2

(a) 14330

(b) 15440

(c) 13440

(d) 14550

Q2. Divide Rs. 4350 in two parts so that the simple interest on the first when deposited for one
year at 9% per annum and that on the second when deposited for two years at 10% per annum in
a bank are the same.

4350 =qT Fit Tfr &t 7 FReat § 380 o o #F 6i ago e 98 9% i awf i < & |memeor sarer )

T 99 & o1 ST TRy i freft S  gae iRe ae &1 a0 o g 10% e o< ST afdr a9+ 8.
(a) Rs. 1250, Rs. 3100
(b) Rs. 1450, Rs. 2900
(c) Rs. 1350, Rs. 3000
(d) Rs. 1550, Rs. 2800

Q3. A sum of money was lent at simple interest at 11% per annum for 3% years and 4% years
respectively. If the difference in interest for two periods was Rs. 412.50, then find the sum?
el e R 3T 1% TR TS W) e 3 WK 40 A ¥ g S R @ am af @ st F R

SITST § ST 412.50 T g, T AT FTT Hifora?
(a) Rs. 3570
(b) Rs. 7530

(c) Rs. 5730 5
(d) Rs. 3750 ENGLISH

Q4. The amount (in Rs) received at 10% per annum compound

interest after 3 yrs is Rs 1,19,790. What was the principal? SSC PUBL'CAT'ON
3 99 A1 10% i a9 Fhafeg ST 9 I8 i (T H) 1,19,790 F9T

HEGRUREINETY PRIME

(a) 90000 SSC CGL |CPO | CHSL & Others
(b) 1,00,000

(c) 80000 7 Printed Books

(d) 75000
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Q5. The present worth of a bill due 7 months hence is Rs. 2400 and if the bill were due at the end
of 2 2 years its present worth would be Rs. 2032. The rate percent is (%)

7 A1 F ST O &1 a9 ToF 2400 €Y § i IR e 2 1, a9 ¥ ofq 9= S AT av T9hT TaA o F
2032 93 graT. TA9a (%) 3T 74T 872
(a) 10 %

(b) 5
(c) 20
(d) 10

Q6. In how many months will Rs 8,000 yield Rs 2,648 as compound interest at 20% per annum

compounded semi-annually?

fraw wEaT § 20% wfaey wwgfy sref-arffs =7 & 8,000 FIT X 2,648 I o wwgfe a1 & &7 &
[LELIF

(a) 18

(b) 24

(c)12

(d) 30

Q7. Ram borrowed a sum of money and returned it in three equal quarterly installments of Rs.
17576 each. Find the sum borrowed, if the rate of interest charged was 16% per annum
compounded quarterly.

T 7 FF g T IYTT AT S T8 17576 FTIX AT 1 A T A7 foheadt # arae < faam i sare

T 16% TFas AATIRAF Tohgfe T & Ao it 1T ofF T Ig it 75 iy 719
(a) Rs. 48785
(b) Rs. 48775
(c) Rs. 44875
(d) Rs. 84775

Q8. Arun and Ramu are friends. Arun borrowed a sum of Rs. 400 at 5% per annum simple interest
from Ramu. He returns the amount with interest after 2 years. Ramu returns 2% of the total
amount to Arun. How much did Arun receive?

T ST T I §. A0 A T & TAA¥ 5% YT AT X & 400 FQ YR U, 9 2 a9 qIE AT

qiga T AteT AT §. T T M FT 2% R HT AITAT & XY &l Feha(t T T §=7?
(a) Rs. 8.80
(b) Rs. 3.80
(c) Rs. 4.80
(d) Rs. 5.80
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Q9. In how many years will Rs 2,000 yield Rs 662 as compound ;;?T Sﬁ::ES @
interest at 10% per annum compounded annually? ng -
frae a9t & 2,000 €T it TFA 10% TG IFa e A T 662

¥ ?

o SSC MTS PAPER-I

a

(b) 2 Based on TCS Pattern
(c) 4

(d)5 15 Full Length Mocks
Q10. What is the compound interest earned on Rs 80,000 at Validity : 1 Month

40% per annum in 1 year compounded quarterly?
80,000 Ft T 9T 1 99 H Tl [AATET SATST T 40% I a9 ot X & ST Ahg (e SATS FohaaT ZIRMT?
(a) 28317
(b) 37128
(c) 18732
(d) 21387

Q11. In the given figure, in triangle STU, ST =8 cm, TU =9 cm and SU =12 cm. QU = 24 cm, SR = 32
cm and PT = 27 cm. What is the ratio of the area of triangle PQU and area of triangle PTR?

& Y s ® |, Byt STU &, ST = 8 &3fY, TU = 9 &3t X SU = 12 AT 81 QU = 24 a7, SR = 32 &t i
PT = 27 &4t 1 AT PQU & &5 3T FArs[sT PTR % &1l T (U fhaT &2
P

Q R
(a)4:9
(b)1:4
(c)2:3
(d)5:2

Q12.1f 20 ton of coal is transported by train to 480 km, then total expenditure is Rs. 760. Then the
expenditure to transport 360 ton coal to 600 km away through 200 trucks is, if fare (which

depends on distance and weight of coal) of each truck is 13_9 part of the train?

T 20 = FAA FT & TRT 480 FHHT TF AW H T @9 760 FIF §. AT 200 THT & ATEAT & 360
FIA FT 600 FHFHT T IEAT FT @ Fhaar I, TR TqF g FT e (S Fa f T &l a9 = ik
FAT §) 3T AT - &7

(a) 2,700

(b) 1066.66

(c) 533333.33
(d) 540000
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Q13. In triangle XYZ, G is the centroid. If XY = 11 cm, YZ = 14 cm and XZ = 7 cm, then what is the
value (in cm) of GM?

B XYZ ¥, G F= g1 TR XY = 11 a1, YZ = 14 93 3= XZ = 7 &, a1 GM =1 |11 (At ) frqer 82
X

Y M z
(@) 6
(b) 4
(c) 2
(d)3

Q14. There are 500 students in a school out of which 60% are boys. 40% of the boys play hockey
and girls don’t play hockey. 75% of the girls play badminton. If there are only two games to be
played, number of students who don’t play any game.

TS TFA § 500 =1 § o & 60% TF 1 40% TS il @A 5 ST Asihai g T2 @dadt &l 75%
wsfHat defieT @t §1 < Faw qF @ @ ST &, AT fhas S w5 Hf &« 751 @9d §

(a) 10.6

(b) 36.6

(c) 46.6

(d) can’t be determined/fAea TR AT FoFAT ST FafaT

Q15. What is the rate of interest (in %) if simple interest earned on a certain sum for the 3rd year
is Rs 2,000 and compound interest earned in 2 years is Rs4,160?

TS T & (% #) Thaeit § It 3 a9 § us At Tfsr 9 stiSta amemor sgret 2,000 T3

g Sl 2 9l # A Idfe s 4,160 €I §?

(a)8

(b) 10

(c)12

(d)6

Q16. In an election 20% of the voters did not vote and 120 votes
were invalid. Winner got 200 votes more than this opponent and TEST SERIES

secured 41% votes of the total number of votes. What English @
percentage of the votes defeated candidate got out of the total =
votes cast?

R R PRt R e e tepnEe et SSC CGL TIER-II
F o TRAgEr & 200 Fie AMAF I gC 37X 399 T qIE F 41% qe
ITH T S aTel SHHiEaTe A1 1 A7at | ¥ favawy wioera 7 wma g2

ENGLISH LANGUAGE

(a) 45% 20 TOTAL TESTS
(b) 41%
s Validity : 2 Months
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Q17. An equilateral triangle of area 300 cm? is cut from its three vertices to form a regular

hexagon. Area of hexagon is what percent of the area of triangle?

300 1 §HT & &% I T GOHST AT H Iq* A7 F & FHrea T AT v s=maw smar g
WSS T SARA AT & AR HT [ha T AL 82

(a) 66.66%

(b) 33.33%

(c) 83.33%

(d) 56.41%

Q18. In the given figure, PQR is an equilateral triangle with side as 12 cm. S and T are the mid

points of the sides PQ and PR respectively. What is the area (in cm?) of the shaded region ?

< Tt i A, PQR UF qHaTg Brest § et s it = 12 |3t €1 S $fiX T %A PQ sfiX PR & Weq
foig &1 St &= 1 4% (cm? ®) Thaar §2
=]

Q R

(a) 10v3
(b) 123
() 9V3

(d) 14V3

Q19. A typist types a page with 20 lines in 10 min but leaves 8% margin on left side of page new he
has to type 23 pages with 40 lines on each page but leaves 10% margin. Find the time required to

complete this task.

T arsfaee 10 fwe § 20 9RA & 917 TF I8 757 4T §, AT 97 & qE A 8% AT Sreal gl S9
TAF I8 9T 40 4ReAT F 91 23 I8 =T T4 8, Afhd 10% AT RIST gl S0 HF H G F & g
AAAF GHY AT i |

7= hours /9

(a)

72 hours /5%
(b) 3

© Tr'; hours /<

(d) None of these/ZaH o &I gl
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Bilingual

of CI is 4% pa. then amount at which he plans to buy the
scooter is (in Rs.)

SiEcE LR kA ks aeenc kb esknrdsccaoll SSC CGL TIER-I
98 3 99 T gL a9 I LHT ¥ 15625 €I i I9q T gl I
Il SATST i T 4% T a9 g1 AT a8 FFast Tfer & The< @da it PRIME

AT T TR (3 ) 85+ TOTAL TESTS
(a) 76489

b) 49751 )
%c))48563 Validity : 2 Months

(d) 50726

Q20. Amit plans to buy a scooter for his sister for which he [EEFFIEREN
saves Rs. 15625 at the start of every year for 3 year. If the rate

Q21.
Ifp= = andR==—
95><9?' Q= 96x98 a7’
then whlch of the following is TRUE ?

I p=—— Q= —— 3R R=—,

9597 96x98 97
ar frafaf@aa & & &= a6
(a)P<Q<R
(b)R<Q<P
(c)Q<P<R
(dR<P<Q

Q22.
998

Thevﬂuenf?gg——QKQQQ 99 jg-

999ﬂx999 99 &I Al AT HY

(a) 998900
(b) 999800
() 989900
(d) 999900

Q23.
Which of the following statement(s) is/are TRUE ?

frafefaa & & &t a1 Faa |8 7

L1124173-52 - 2> =22
2 4 & 10 20
9 - 11 12

T1078 T 1127 T 1219
149 _ 153 _ 157

[l —>=>—>—
151~ 185~ 159

(a) Only I/Fa I

(b) Only II/Fa= II

(c) Only 111/ = 111

(d) None is true/®Ts Tat
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Q24.
Which of the following statement(s] is/are TRUE ?

At F @ a9 ar Fud 858 2

2 3 5
) 3\.‘@ 2\.@ 4\.‘3
II 3 2 7
) 2\.@ 3\."5 4\,.@
(a) Only I/Faet I
(b) Only 11/ II
(c) Both I and II/I 3T II S

(d) Neither I nor II/T 1 3T T & 1I

Q25.

1f (x +2) = 5, then the value of (x° + 2 ) is

afy (x+3) =5, @ (x°+2) & &= 7w
(a) 2525

(b) 2220

(c) 2575
(d) 2530

Q26. The numbers 11284 and 7655, when divided by a certain number of three digits, leave the
same remainder. Find that number of three digits.

11284 SfiX 7655 H&AT I I I sihi it U [iaa geqr a4 favfora fFar smar €, 9 Quesr w0 grar
HEIGEEIRE IR I STy

(a) 161

(b) 171

(c) 181

(d) 191

Q27.

fA=—— + — +——+—+— 4 —— HINDI
1=2 1=4 23 47 3x4 Tx10

upto 20 terms, then what is the value of A?

Mra-L 4 4 1,1 SSC PUBLICATION
1=2 1x4 2x%3 47 I 7=10

________ 20 @& d®, ar A & #T FAT grem? PR'ME

E;)) i;‘iﬁii SSC CGL | CPO | CHSL & Others

() 379/310 7 Printed Books

(d) 420/341
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Q28.
If56 x 75 x 60 x 84 x 210 = 2P x 39 x 57 x7*,

then what is the value of [(p + q) /s] + 17
e 56 x 75 x 60 x 84 x 210 = 2P x 39 x 5 x7%,

ar [(p+q)/s] +1 & A AT F
(a)6

(b) 8

(c)12

(d) 10

Q29.
fA=3-x4>+34-2 +2 andB=22+4 5=+ 55-,
4 4 3z | 16 2 2 10
then what is the valueof A-B?
47

—21 1. 24 3,87 —nal 1., e 11
aﬁﬁ-34x44.34 3:+163-TITB 27+55+55-1,

dt A-B & Al AT &
(a) 5/8

(b) 1

()0

(d)3/8

Q30. Four Iron metal rods of lengths 78 cm, 104 cm, 117 cm and 169 cm are to be cut into parts of
equal length. Each part must be as long as possible. What is the maximum number of pieces that
can be cut?

TS 78 THY, 104 FHT, 117 T 3l 169 T i AT A1 &1 T T FT AT AT 3 W H FH1ET ST B
TAH W I FATHNT AT 5T ATQU| ATAHAH fFae Tohs HIS ST T 32

(a) 27
(b)36 TEST SERIES
EZ)) ‘if)o Bilingual

SSC CGL TIER-II

QUANTITATIVE APTITUDE
20 TOTAL TESTS

Validity : 2 Months
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